
Installation
Instructions for
Rear Access
Ladder

Range Rover 2003
-2009

Installation
Instructions for
Rear Access
Ladder

Range Rover 2003
-2013



Hardware:
1– Ladder
1– Bottom Backing plate
2– 1/4” Washers
2– 5/16 washers
1– Hex head 1/4” bolt (to install jack nuts)
2– Jack Nuts
2– O-rings
2- 5/16” 1” long bolts
2– 1/4” 1” long machine screws (used with jack nuts)
2– Self-Adhesive Heavy Duty Sponge Rubber Strips
4– Black Polyurethane Bolt Caps

You will need:
1- Drill (electric or cordless)
3/8” drill bit & #3 Phillips bit
1- 1/2” or 13mm socket with drill adapter
1- 1/2” or 13mm wrench

Installation Instructions:
1. Apply the 2 provided protection strips to the backside of the top and

bottom mounting plates.  Some trimming may be necessary. This
will provide protection for the exterior paint on your vehicle.

2. Open rear hatch and remove the interior surrounds to access the
area above and below the glass.

3. Locate the 4 attachment points on the ladder
4. Close the hatch and position the ladder as desired on the left of the

vehicle.
5. Using your permanent marker, mark the 4 mounting holes.
6. Remove the ladder.
7. Drill holes on the marks.  Use appropriate care and safety when

drilling.
8. Install jack-nuts in top holes
9. Replace drill bit with a 13mm or 1/2” socket.
10. Place one washer and one flat washer on each bolt and screw.
11. Insert 2 bolts through the bottom of the ladder, through the vehicle

and into the backing plate, with the 2 welded nuts.
12. Insert the 2 remaining bolts through the top of the ladder, through

the vehicle, flat washer and nylon locking nut.
13.Readjust the ladder if necessary and tighten all bolts to satisfaction.
14.Replace the interior pieces.

Enjoy your new ladder.

Hardware:
1– Ladder
1– Bottom Backing plate
2– 1/4” Washers
2– 5/16 washers
1– Hex head 1/4” bolt (to install jack nuts)
2– Jack Nuts
2– O-rings
2- 5/16” 1” long bolts
2– 1/4” 1” long machine screws (used with jack nuts)
2– Self-Adhesive Heavy Duty Sponge Rubber Strips
4– Black Polyurethane Bolt Caps

You will need:
1- Drill (electric or cordless)
3/8” drill bit & #3 Phillips bit
1- 1/2” or 13mm socket with drill adapter
1- 1/2” or 13mm wrench

Installation Instructions:
1. Apply the 2 provided protection strips to the backside of the top and

bottom mounting plates.  Some trimming may be necessary. This
will provide protection for the exterior paint on your vehicle.

2. Open rear hatch and remove the interior surrounds to access the
area above and below the glass.

3. Locate the 4 attachment points on the ladder
4. Close the hatch and position the ladder as desired on the left of the

vehicle.
5. Using your permanent marker, mark the 4 mounting holes.
6. Remove the ladder.
7. Drill holes on the marks.  Use appropriate care and safety when

drilling.
8. Install jack-nuts in top holes
9. Replace drill bit with a 13mm or 1/2” socket.
10. Place one washer and one flat washer on each bolt and screw.
11. Insert 2 bolts through the bottom of the ladder, through the vehicle

and into the backing plate, with the 2 welded nuts.
12. Insert the 2 remaining bolts through the top of the ladder, through

the vehicle, flat washer and nylon locking nut.
13.Readjust the ladder if necessary and tighten all bolts to satisfaction.
14.Replace the interior pieces.

Enjoy your new ladder.

4

4
4

4

and bottom holes

and bottom holes

es

4

4
4

4


